YY) 1 (AYIY),

HAULAB -Y-Empfindlichkeit
s,/s,u (AY/Y)/Q‘AY/Y) normiert fiir ( AY/Y)y

QYY) 1 (AYY),

sqlsqu (AY/Y)/%AY/Y)

HAULAB -Y-Empfindlichkeit
normiert fiir (AY/Y),

6 YI¥p) '=d (¥=100Y,=28,5=153,7, n=0,31, d=53,7)[{f 6 YY) =d (¥=100Y,=52,5=153,7, n=0,31, d=759)[1
L*—r(YlYu) ~d (r=s(Yy/Yy)"=90,34,L* = r-d =36,6) [Lh} L*—r(Y/Yu) ~d (§=s(Yy/Yn)"=90,34,L* = r-d =14,4) [1b
dY /Y= (Yo (ns) 1Y 1Y) Y [3c] dY /Y=[ (Yol (ns\I(Y /Y)Y [3c]
@Y /1Y) =Y (n8) 1Y/ Yo ™1 Yy [3d] @Y /Y= [0 () 1Y/ Y)Yy [3d]

4 @Y /Y) @Y /YL XYY" [3e]|| 4 @Y /1Y) @Y /Y)Y =( " [3€]

$=30' a2, $=30'

5 Law=300cd/f | 2 Law=1000cd/fh
| Mygo_4=~0,000f99=0, 1= o Qg;gmdungs Mugo_a= ~0,000f9g=0, f4=0 Anwe”dungs
R Ty ECE R EEE R e ERCrYY ECCREEEEEY,

o Y01 1 Ll rYu=1810 /409 o X 1 10 W=18100 01497

- -1 0 1 v 3 logY - -1 0 1V 2 logY
hgv8l-la hgv81l-2a

(AYIY) I (AYIY)y, HAULAB -Y- Empflndllchkelt AYIY) 1 AYIY)y HAULAB -Y- Empflndllchken

S/Su=(AYMIAYrY),  normiert fir ( AY/IY), S/Sy=QYM/AYrY),  normiert fir ( AYIY),

6 L*=s(Y/Yp)'=d  (Y4=100Y,=23,5=153,7, n=0,31, d=47,9)[{| 6 L*=s(Y/Yn)'=d (Y,=100,Y,=12,5=163,9, n=0,31, d=36,8)[1
L*=r (YIYY)"-d (r= S(Yu/Yn)":90,34,L*u: r-d =42,3) [1b) L*=r (YIY)"-d (r= S(Yu/Yn)n:96,32,L*u: r-d =59,4) [1b|
dY /Y= (Ve (ns) 1Y 1Y) 1Y [3c] dY /Y= [ (Yol (ns) Y 1Y) ™Y [3c]
@Y /1Y) =Y/ (n8)1(Va/ Yo ™1 Yy [3d] @Y /Y= [V (ns) 10Yu/ Vo) T Yy [3d]

4 @Y /) @YY, (Y/Y)™ [3e]f| 4 @AY /1Y) @Y 1Y, =(Y 1Y) [3€]

$=30’ =30’

P Law=200cd/® [ » 781 Law=40cd/rh

- Anwendungs- — Anwendungs-
Mo ;“(.;6.705020?2“3 03y 991 berech o i m”"".“(.;gfaoeo.fg‘.r o f.‘".{" : 2500074 bereich
my, = -0, my = =

o Y701 1 10 1Y, =18100%=,0,386 o ‘70 1 321

-2 -1 0 19 3 logY - -1 0 1V 2 logY
hgv81-3a hgv81l-4a




